[image: image1.png]60. Which value is NOT the same as the other three values? .

A.sin 100" B. 5in 80" C. sin —80° D. sin ~260°
61. What is the amplitude of y = 3 5in 467 G
4] 3 o4 L2
62. Which answer choice describes y = —sin 267 B
A amplitude ~1, period dx 8. amplitude 1, period
C.amplitude 2, period D. amplitude 27, period 1

63. Which function has a period of 4x and an amplitude of 87 G
Fy=-8sin8 G.y=-8sin}d H.y=8sin20 Jy=4sin8s
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[image: image3.png]1, Which function has a period of 2x and an amplitude of 42 4
F g - 2cos 40 G. fix) = 2cos
HAx) = 4cos20 ). fix) = 4cosd
42. Which equation corresponds to the graph shown
at the right? The screen dimensions are
—4r=x=4zand -2=y=2.A
Ay=}eos§  B.y=}cosax
Cy=2cs§  D.y=2cos4x
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[image: image5.png]47. Which value is NOT defined? ©
c tan¥f

A.tan0 B. tan 7
48. What is the exact value of tan T u
V3 6 - e
49. Which pair of values are NOT equal? D
Atanf, —tan 3f B. tan{,m% s
C.tan 6, —tan (~6) D. tan g, tan (x —

50. Which equation does NOT represent a vertical asymptote
y=tand? G
Fo=-§ G.8=0 n_g=§

51. Which function has a period of 427 D
A.y = tan 49 B.y = tan 26 c_y=m§.
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Ay=5sinf B.y=sin8+5 Cy=sin(@+5)

56. Which function is a translation of y = cos 6 by 5 units down’
Fy=-5cos6 G.y=cos8—5
H.y = cos (# — 5) J. y = cos (~56)

57. Which function is a translation of y = sin 8 that isg units
tothe left? B

Ay=sin(0+5)+5 B.y=sin(6+
Cy=sin(0-5)+§ D.ynsin(‘-





